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f‘ﬁ 1 -PSK Study Guide and Intervention

Solving Inequalities

Solve Inequalities The following properties can be used to solve inequalities.

Addition and Subtraction Properties for Inequalities

Multiplication and Division Properties for Inequalities

For any real numbers a, b, and ¢
1. fa<bthena+c<b+canda—-c<b-c
2. fa>bthena+c>b+canda—c>b—c

For any real numbers a, b, and ¢, with ¢ # 0:

1. If'cis positive and a < b, then ac < bc and % %
b

2. Ifcis pos;tlve and a > b, then ac > bc and B

3. Ifcis negatrve and a < b, then ac > bc and % el

ol o

4. If cis negative and a > b, then ac < bc and % <

These properties are also true for = and =.

= > Solve 2x + 4 > 36.
Then graph the solution set on a
number line.

2¢+4—4>36—4
2x > 32
x> 16
The solution set is {x | x > 16}.
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i =y Solve 17 — 3w = 35. Then
graph the solution set on a number line.

17 — 3w = 35
17 — 3w — 17=35 — 17
—3w = 18
w= -6
The solution set is {w|w = —6).
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Solve each inequality. Describe the solution set using set-builder notation.
Then graph the solution set on a number line.

1.7(7Ta — 9) = 84 2.3(9z + 4) >
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I T I I

! |
T T
—-4-3-2-10 1 2

4. 18 — 4k < 2(k + 21)
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Solving Compound and Absolute Value lnequaltttes

Write an absolute value inequality for each of the followmg Then graph the
solution set on a number line.

1. all numbers greater than 4 or less than —4 ——t—

M__
o
o o
o

2. all numbers between —1.5 and 1.5, mcludmg e
—1.5and 1.5

Write an absolute value inequality for each graph.

B, ety 4. et
-20 =10 0 10 20 : -4-3-2-10 1 2 3 4

Solve each inequality. Graph the solution set on a number line.

5.-8 =3y — 20 < 52 6.3(5x — 2) < 24 or 6x — 4 > 4 + Bx
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7.2¢ —3>150r3 — Tx < 17 ' 8.15—-5x=0andb5x + 6= —14
— e
—4-3-2-10 1 2 3 4 _ -4-3-2-10 1.2 38 4

9. |2w| =5 10. |y + 5] <2
4321012 3 4 87 -6-5-4-3-2-1 0

11. |x — 8] = 3 12. [22 — 2] =3
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13. [2x + 2| = 7= -5 14, |x] >x -1
——————— ]

15. [3b + 5| = -2 16. [3n — 2| —2<1
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17. RAINFALL In 90% of the last 30 years, the rainfall at Shell Beach has varied no more
than 6.5 inches from its mean value of 24 inches. Write and solve an absolute value
inequality to describe the rainfall in the other 10% of the last 30 years.

18. MANUFACTURING A company’s guidelines call for each can of soup produ'céd not to vary
from its stated volume of 14.5 fluid ounces by more than 0.08 ounces. Write and solve an
absolute value inequality to describe acceptable can volumes.
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